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1. Prices for a stock are modeled with a 1-period binomial tree. You are given the following information:
(1) The period is one year.
(2) The stock's current price is 95
B)u=1.15andd=0.9.
(4) The continuously compounded risk-free rate is 3.5%.
(5) The stock pays continuous dividends proportional to its price at a rate of 1.5%.
Find the risk-neutral probability of an increase in the stock price. [20d_01]
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2. Prices for a stock are modeled with a 1-period binomial tree. You are given the following information:
(1) The period is one year.
(2) The stock's current price is 95
(3)u=125andd=0.8.
(4) The continuously compounded risk-free rate is 5%.
(5) The stock pays continuous dividends proportional to its price at a rate of 2%.
Use risk-neutral pricing to find the price of a one year call option with a strike price of 94. [20d_02]
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3. Prices for a stock are modeled with a 1-period binomial tree. You are given the following information:
(1) The period is 4 months.
(2) The stock's current price is 100
(3)u=1.3 and d=0.85.
(4) The continuously compounded risk-free rate is 4%.
(5) The stock does not pay dividends.
Use risk-neutral pricing to find the price of a 4-month call option with a strike price of 102. [20d_3]
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4. Prices for a stock are modeled with a 1-period binomial tree. You are given the following information:
(1) The period is one year.
(2) The stock's current price is 115
(B)u=13and d=0.8.
(4) The continuously compounded risk-free rate is 4.5%.
(5) The stock does not pay dividends
Use risk-neutral pricing to find the price of a one year put option with a strike price of 117. [20d_04]
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5. Prices for a stock are modeled with a 1-period binomial tree. You are given the following information:
(1) The period is 9 months.
(2) The stock's current price is 150
(B)u=12and d=0.8.
(4) The continuously compounded risk-free rate is 4%.
(5) The stock pays continuous dividends proportional to its price at a rate of 2.5%.
Use risk-neutral pricing to find the price of a 9-month put option with a strike price of 145. [20d_05]
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